
Service Parts Catalog Contents

PageSet 6

Body

300 Exterior

CENTER

ELECTRICS ACCESS DOOR ASSY

_____________________________________________________________________________ 1

END CAP, EXTERIOR, WAIST

With: FEATURE 30977-08 WITH or WITH OUT  FEATURE 31061-04, -05
_____________________________________________________________________________ 2

OUTSIDE SIDE PANELS

_____________________________________________________________________________ 3

PANELS, CENTER DOOR SIDE

With: FEATURE 31061-04, -05
_____________________________________________________________________________ 4

PANELS, ENTRANCE DOOR SIDE

With: FEATURE 30977-08
_____________________________________________________________________________ 5

PILLAR CAPPINGS (BOW CAPS)

30 FT. UNITS WITH 2 DOORS

With: FEATURE 31061-04
_____________________________________________________________________________ 6

35 FT. UNITS WITH 2 DOORS

With: FEATURE 31061-05
_____________________________________________________________________________ 7

RADIATOR ACCESS DOOR ASSY

_____________________________________________________________________________ 8

SKIRT PANELS

30 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-04
_____________________________________________________________________________ 9

30 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 40241-06, -12 WITH FEATURE 30977-08
____________________________________________________________________________ 10

35 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-04
____________________________________________________________________________ 11

35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 40241-06, -12 WITH FEATURE 30977-08
____________________________________________________________________________ 12

UPPER PANELS

30 FT. UNIT WITH 2 DOORS

____________________________________________________________________________ 13

30 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08
____________________________________________________________________________ 14



Service Parts Catalog Contents

PageSet 6

35 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-05
____________________________________________________________________________ 15

35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08
____________________________________________________________________________ 16

WAIST PANELS

30 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-04 WITH FEATURE 30977
____________________________________________________________________________ 17

30 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08
____________________________________________________________________________ 18

35 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-05 WITH FEATURE 30977
To BSN 40154009
____________________________________________________________________________ 19

With: FEATURE 31061-05 WITH FEATURE 30977
From BSN 40154010
____________________________________________________________________________ 20

35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08
To BSN 40154009
____________________________________________________________________________ 21

With: FEATURE 30977-08
From BSN F40154010
____________________________________________________________________________ 22

WATER FILLER DOOR ASSY

____________________________________________________________________________ 23

FRONT

BUMPER

With: FEATURE 40088-03, -04
____________________________________________________________________________ 24

FRONT CORNER PANEL

____________________________________________________________________________ 25

FRONT CENTER PANEL ASSY.

____________________________________________________________________________ 26

FRONT LIGHTS PANEL

____________________________________________________________________________ 27

MAIN FRONT PANEL

____________________________________________________________________________ 28

REAR

____________________________________________________________________________ 29



Service Parts Catalog Contents

PageSet 6

____________________________________________________________________________ 30

REAR CORNER ASSY

____________________________________________________________________________ 31

MAIN REAR PANEL

____________________________________________________________________________ 32

REAR ENGINE ACCESS DOOR ASSY

____________________________________________________________________________ 33

REAR LIGHTS PANEL

____________________________________________________________________________ 34

REAR UPPER ACCESS DOOR ASSY

With: STD
____________________________________________________________________________ 35

REAR UPPER ACCESS DOOR ASSY WITH DECELERATION LIGHTS

With: FEATURE 30742-01
____________________________________________________________________________ 36

ROOF CNG PIPE COVERS

____________________________________________________________________________ 37

RUBRAILS

30 FT. UNIT

With: FEATURE 30977-08 WITH FEATURE 31061-04
____________________________________________________________________________ 38

30 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08
____________________________________________________________________________ 39

35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08
____________________________________________________________________________ 40

35 FT. UNITS WITH 2 DOORS

With: FEATURE 31061-05
____________________________________________________________________________ 41

BUMPER

REAR CENTER ASSY



Models: L4RE
CENTER
ELECTRICS ACCESS DOOR ASSY

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003013

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
ELECTRICS ACCESS DOOR ASSY

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003013

4758979 DOOR ASSY,ELECTRICS ACCESS

1 4758980 DOOR PANEL,ELECTRICS ACCESS

2 4760889 STAY ASSY,DOOR

3 4760905 HINGE,ELECTRICS ACCESS DOOR

4 1798420 2 LATCH,ADJUSTABLE LEVER,THIN GRIP

5 4760639 ANGLE,DOOR STIFFENER,ELEC ACS,RH

6 4760895 7 RIVET,POP,SEALED,4.8X14.5MM,ALUM

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
END CAP, EXTERIOR, WAIST

With: FEATURE 30977-08 WITH or WITH OUT  FEATURE 31061-04, -05

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003010

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
END CAP, EXTERIOR, WAIST

With: FEATURE 30977-08 WITH or WITH OUT  FEATURE 31061-04, -05

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003010

1 4760739 END CAP LH EXTERIOR WAIST 11-50530DB

1 4760740 END CAP RH EXTERIOR WAIST 11-50540DB

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
OUTSIDE SIDE PANELS

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003008

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
OUTSIDE SIDE PANELS

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003008

4758954 PANEL WAIST LH FRT

4758955 PANEL WAIST LH FRT WARCH

4758956 PANEL WAIST LH CTR 30FT

4758958 PANEL WAIST LH RR

4758957 PANEL WAIST LH RR WARCH

4758959 PANEL WAIST RH FRT WARCH

4758960 PANEL WAIST RH CTR 30FT

4759413 PANEL WAIST RH RR

4758962 PANEL WAIST RH RR

4758961 PANEL WAIST RH RR WARCH

4758954 PANEL WAIST LH FRT

4759819 PANEL WAIST 47.95”LG

4759809 PANEL WAIST 49.5”LG

4758956 PANEL WAIST LH CTR 30FT

4759808 PANEL WAIST 97.4”LG

4759807 PANEL WAIST 100.7”LG

4759806 PANEL WAIST 102.2”LG

4759805 PANEL WAIST 105.4”LG

4759804 PANEL WAIST 108.58”LG

4759803 PANEL WAIST 110.1”LG

4759006 PANEL UPPER ENT DOOR

4759007 PANEL UPPER CTR DOOR 33

4759906 PANEL UPPER CTR DOOR WIDE

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
OUTSIDE SIDE PANELS

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003008

4759008 PANEL UPPER DRVS WINDOW

4759010 PANEL,UPPER,55.82” LG

4759011 PANEL,UPPER,72.44” LG

4759009 PANEL,UPPER,101.49” LG

4759012 PANEL,UPPER,103.85” LG

4759908 PANEL UPPER 105.43 LG

4759907 PANEL UPPER 108.58 LG

4759016 ANGLE FINISHER CTRE DOOR

4759015 ANGLE FINISHER ENTR DOOR

4758969 PANEL SKIRT RH FRT WARCH

4758970 PANEL SKIRT RH FRT WARCH

4758963 PANEL SKIRT LH FRT WARCH

4758964 PANEL SKIRT LH FRT WARCH

4758971 PANEL SKIRT RH CTR DR

4758965 PANEL SKIRT 1100 BAY

4758972 PANEL SKIRT RH RR WARCH

4758973 PANEL SKIRT RH RR WARCH

4758966 PANEL SKIRT LH RR WARCH

4758967 PANEL SKIRT LH RR WARCH

4758974 PANEL SKIRT RH RR

4758968 PANEL SKIRT LH RR

4759013 PANEL REAR CORNER LH

4759014 PANEL REAR CORNER RH

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
OUTSIDE SIDE PANELS

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003008

4759367 STRAP ASSY TENAX

4759886 INTAKE ASSY ENGINE AIR RH REAR

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
PANELS, CENTER DOOR SIDE

With: FEATURE 31061-04, -05

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003012

4
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
PANELS, CENTER DOOR SIDE

With: FEATURE 31061-04, -05

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003012

1, 4761081 PANEL KIT,CTR DOOR,EXTERIOR,L4RE BOTH ITEM 1 AND ITEM 2 ARE 
INCLUDED IN THIS KIT.

4
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
PANELS, ENTRANCE DOOR SIDE

With: FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003011

5
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
PANELS, ENTRANCE DOOR SIDE

With: FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003011

1, 4761080 PANEL KIT,ENT DOOR,EXTERIOR,L4RE BOTH ITEM 1 AND ITEM 2 ARE 
INCLUDED IN THIS KIT.

5
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
PILLAR CAPPINGS (BOW CAPS)
30 FT. UNITS WITH 2 DOORS

With: FEATURE 31061-04

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003018

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
PILLAR CAPPINGS (BOW CAPS)
30 FT. UNITS WITH 2 DOORS

With: FEATURE 31061-04

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003018

4759783 KIT PILLAR CAPPINGS 30FT 2DR CONSISTS OF THE FOLLOWING

1 4759528 FINISHER PILLAR SCREEN FRONT RH

2 4759527 FINISHER PILLAR SCREEN FRONT LH

3 4761495 FINISHER ASSY,PILLAR,ENTRANCE DOOR

4 4759785 2 CAPPING PILLAR 80 STD STANDARD

5 4759786 2 CAPPING PILLAR 120 STD STANDARD

6 4760491 FINISHER,PILLAR,EXIT DOOR

7 4759789 CAPPING PILLAR 120 SPECIAL RH

8 4759787 2 CAPPING PILLAR 120 SHORT

9 4759811 FINISHER PILLAR CNR RR RH

10 4759810 FINISHER PILLAR CNR RR LH

11 4759850 CAPPING EXIT DOOR SHELFPLATE LH

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
PILLAR CAPPINGS (BOW CAPS)
35 FT. UNITS WITH 2 DOORS

With: FEATURE 31061-05

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003019

7
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
PILLAR CAPPINGS (BOW CAPS)
35 FT. UNITS WITH 2 DOORS

With: FEATURE 31061-05

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003019

4759784 KIT PILLAR CAPPINGS 35FT 2DR CONSISTS OF THE FOLLOWING

1 4761495 FINISHER ASSY,PILLAR,ENTRANCE DOOR

2 4759785 4 CAPPING PILLAR 80 STD STANDARD

3 4759786 2 CAPPING PILLAR 120 STD STANDARD

4 4759787 2 CAPPING PILLAR 120 SHORT

5 4759789 CAPPING PILLAR 120 SPECIAL RH

6 4760491 FINISHER,PILLAR,EXIT DOOR

7 4759810 FINISHER PILLAR CNR RR LH

8 4759811 FINISHER PILLAR CNR RR RH

9 4759850 CAPPING EXIT DOOR SHELFPLATE LH

10 4759528 FINISHER PILLAR SCREEN FRONT RH

11 4759527 FINISHER PILLAR SCREEN FRONT LH

7
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
RADIATOR ACCESS DOOR ASSY

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003030

8
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
RADIATOR ACCESS DOOR ASSY

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003030

4759859 DOOR ASSY,RADIATOR ACCESS

1 4760925 PANEL,TOP,RADIATOR ACS DR

2 4759858 PANEL,DOOR,RADIATOR ACCESS

3 4760927 ANGLE,STIFFENER,RADIATOR ACS DR,RH

4 4760959 ANGLE,STIFFENER,RADIATOR ACS DR,LH

5 4760928 GRILLE,RADIATOR ACS DR

6 1798420 2 LATCH,ADJUSTABLE LEVER,THIN GRIP

7 4760939 STAY ASSY,RADIATOR ACS DOOR

8 4760932 BRACKET,RETAINER,RADIATOR ACS DR

9 4760926 HINGE,RADIATOR ACS DR

10 4760895 9 RIVET,POP,SEALED,4.8X14.5MM,ALUM

8
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
SKIRT PANELS
30 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-04

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003027

9
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
SKIRT PANELS
30 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-04

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003027

4759443 PANEL KIT SKIRT 30FT 2DR CONSISTS OF THE FOLLOWING

1 4758963 PANEL SKIRT LH FRT WARCH FRONT OF FRONT WHEEL

2 4758964 PANEL SKIRT LH FRT WARCH REAR OF FRONT WHEEL

3 4758965 PANEL SKIRT 1100 BAY

4 4758966 PANEL SKIRT LH RR WARCH FRONT OF REAR WHEEL

5 4758967 PANEL SKIRT LH RR WARCH REAR OF REAR WHEEL

6 4758968 PANEL SKIRT LH RR

7 4758969 PANEL SKIRT RH FRT WARCH FRONT OF FRONT WHEEL

8 4758970 PANEL SKIRT RH FRT WARCH REAR OF FRONT WHEEL

9 4758971 PANEL SKIRT RH CTR DR

10 4758972 PANEL SKIRT RH RR WARCH FRONT OF REAR WHEEL

11 4758973 PANEL SKIRT RH RR WARCH REAR OF REAR WHEEL

12 4758974 PANEL SKIRT RH RR

9
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
SKIRT PANELS
30 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 40241-06, -12 WITH FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003026

10
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
SKIRT PANELS
30 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 40241-06, -12 WITH FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003026

0065739 KIT,PANEL,SKIRT,FRONT DOOR ONLY,30FT, CONSISTS OF THE FOLLOWING

1 4758963 PANEL SKIRT LH FRT WARCH

2 4758964 PANEL SKIRT LH FRT WARCH

3 4758965 4 PANEL SKIRT 1100 BAY

4 4758966 PANEL SKIRT LH RR WARCH

5 4758967 PANEL SKIRT LH RR WARCH

6 4758968 PANEL SKIRT LH RR

7 0071680 PANEL,SKIRT,RH FRT,WARCH,VAPOR DR, L4RE

8 4758970 PANEL SKIRT RH FRT WARCH

9 0065773 PANEL,SKIRT,RH,RR,FRT,FRT DR ONLY,30FT 

10 4758973 PANEL SKIRT RH RR WARCH

11 4758974 PANEL SKIRT RH RR

10
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
SKIRT PANELS
35 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-04

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003029

11
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
SKIRT PANELS
35 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-04

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003029

4759818 KIT PANEL SKIRT 35FT 2DR CONSISTS OF THE FOLLOWING

1 4758963 PANEL SKIRT LH FRT WARCH

2 4758964 PANEL SKIRT LH FRT WARCH

3 4759823 2 PANEL,SKIRT,54.21” LG

4 4759824 PANEL,SKIRT,47.16” LG,LH

5 4759822 PANEL,SKIRT,58.97"" LG,LH

6 4758966 PANEL SKIRT LH RR WARCH

7 4758967 PANEL SKIRT LH RR WARCH

8 4758968 PANEL SKIRT LH RR

9 4758969 PANEL SKIRT RH FRT WARCH

10 4758970 PANEL SKIRT RH FRT WARCH

11 4758971 PANEL SKIRT RH CTR DR

12 4758972 PANEL SKIRT RH RR WARCH

13 4758973 PANEL SKIRT RH RR WARCH

14 4758974 PANEL SKIRT RH RR

11
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
SKIRT PANELS
35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 40241-06, -12 WITH FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003028

12
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
SKIRT PANELS
35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 40241-06, -12 WITH FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003028

0065740 KIT,PANEL,SKIRT,FRONT DOOR ONLY,35FT, CONSISTS OF THE FOLLOWING

1 0071680 PANEL,SKIRT,RH FRT,WARCH,VAPOR DR, L4RE

2 4758970 PANEL SKIRT RH FRT WARCH

3 4759823 2 PANEL,SKIRT,54.21” LG

4 0066269 PANEL,SKIRT,47.16” LG,RH, L4RE

5 0066268 PANEL,SKIRT,58.97” LG,RH, L4RE

6 0065773 PANEL,SKIRT,RH,RR,FRT,FRT DR ONLY,30FT FRT DOOR ONLY, 30FT

7 4758973 PANEL SKIRT RH RR WARCH

8 4758974 PANEL SKIRT RH RR

9 4758963 PANEL SKIRT LH FRT WARCH

10 4758964 PANEL SKIRT LH FRT WARCH

11 4759824 PANEL,SKIRT,47.16” LG,LH

12 4759822 PANEL,SKIRT,58.97"" LG,LH

13 4758966 PANEL SKIRT LH RR WARCH

14 4758967 PANEL SKIRT LH RR WARCH

15 4758968 PANEL SKIRT LH RR

12
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
UPPER PANELS
30 FT. UNIT WITH 2 DOORS

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003015

13
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
UPPER PANELS
30 FT. UNIT WITH 2 DOORS

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003015

4759441 PANEL KIT UPPER 30FT 2DR CONSISTS OF THE FOLLOWING

1 4759008 PANEL UPPER DRVS WINDOW

2 4759009 2 PANEL,UPPER,101.49” LG

3 4759012 PANEL,UPPER,103.85” LG

4 4759011 2 PANEL,UPPER,72.44” LG

5 4759006 PANEL UPPER ENT DOOR

6 4759007 PANEL UPPER CTR DOOR 33

7 4759014 PANEL REAR CORNER RH

13
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
UPPER PANELS
30 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003014

14
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
UPPER PANELS
30 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003014

0065741 KIT,PANEL,UPPER,FRONT DOOR ONLY,30FT, CONSISTS OF THE FOLLOWING

1 4759008 PANEL UPPER DRVS WINDOW

2 4759009 2 PANEL,UPPER,101.49” LG

3 4759012 2 PANEL,UPPER,103.85” LG

4 4759011 2 PANEL,UPPER,72.44” LG

5 4759006 PANEL UPPER ENT DOOR

6 4759014 PANEL REAR CORNER RH

14
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
UPPER PANELS
35 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-05

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003017

15
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
UPPER PANELS
35 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-05

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003017

4759816 PANEL KIT UPPER 35FT 2DR WIDE CONSISTS OF THE FOLLOWING

1 4759008 PANEL UPPER DRVS WINDOW

2 4759907 2 PANEL UPPER 108.58 LG

3 4759908 PANEL UPPER 105.43 LG

4 4759010 2 PANEL,UPPER,55.82” LG

5 4759006 PANEL UPPER ENT DOOR

6 4759906 PANEL UPPER CTR DOOR WIDE

7 4759011 2 PANEL,UPPER,72.44” LG

8 4759014 PANEL REAR CORNER RH

15
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
UPPER PANELS
35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003016

16
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
UPPER PANELS
35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003016

0065742 KIT,PANEL,UPPER,FRONT DOOR ONLY,35FT, CONSISTS OF THE FOLLOWING

1 4759008 PANEL UPPER DRVS WINDOW

2 4759907 2 PANEL UPPER 108.58 LG

3 4759908 2 PANEL UPPER 105.43 LG

4 4759010 2 PANEL,UPPER,55.82” LG

5 4759011 2 PANEL,UPPER,72.44” LG

6 4759006 PANEL UPPER ENT DOOR

7 4759014 PANEL REAR CORNER RH

16
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WAIST PANELS
30 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-04 WITH FEATURE 30977

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003021

17
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WAIST PANELS
30 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-04 WITH FEATURE 30977

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003021

4759442 PANEL KIT WAIST 30FT 2DR CONSISTS OF THE FOLLOWING

1 4758954 PANEL WAIST LH FRT

2 4758955 PANEL WAIST LH FRT WARCH

3 4758956 PANEL WAIST LH CTR 30FT

4 4758957 PANEL WAIST LH RR WARCH

5 4758958 PANEL WAIST LH RR

6 4758959 PANEL WAIST RH FRT WARCH

7 4758960 PANEL WAIST RH CTR 30FT

8 4758961 PANEL WAIST RH RR WARCH

9 4758962 PANEL WAIST RH RR

10 4759413 PANEL WAIST RH RR

17
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WAIST PANELS
30 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003020

18
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WAIST PANELS
30 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003020

0065737 KIT,PANEL,WAIST,FRONT DOOR ONLY,30FT, CONSISTS OF THE FOLLOWING

1 4758954 PANEL WAIST LH FRT

2 4758955 PANEL WAIST LH FRT WARCH

3 4758956 2 PANEL WAIST LH CTR 30FT

4 4758957 2 PANEL WAIST LH RR WARCH

5 4758958 PANEL WAIST LH RR

6 4758959 PANEL WAIST RH FRT WARCH

7 4758962 PANEL WAIST RH RR

8 4759413 PANEL WAIST RH RR

18
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WAIST PANELS
35 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-05 WITH FEATURE 30977
To BSN 40154009

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003024

19
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WAIST PANELS
35 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-05 WITH FEATURE 30977
To BSN 40154009

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003024

4759817 KIT PANEL WAIST 35FT 2DR CONSISTS OF THE FOLLOWING

1 4759803 PANEL WAIST 110.1”LG

2 4759809 PANEL WAIST 49.5”LG

3 4759808 PANEL WAIST 97.4”LG

4 4759413 PANEL WAIST RH RR

5 4758954 PANEL WAIST LH FRT

6 4759804 PANEL WAIST 108.58”LG

7 4759805 PANEL WAIST 105.4”LG

8 4758956 PANEL WAIST LH CTR 30FT

19
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WAIST PANELS
35 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-05 WITH FEATURE 30977
BSN: From BSN 40154010

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003025

20
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WAIST PANELS
35 FT. UNIT WITH 2 DOORS

With: FEATURE 31061-05 WITH FEATURE 30977
BSN: From BSN 40154010

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003025

0070132 KIT,PANEL,WAIST,2DR,35FT CONSISTS OF THE FOLLOWING

1 4758954 PANEL WAIST LH FRT

2 4758955 PANEL WAIST LH FRT WARCH

3 0070131 PANEL,ALUM,WAIST,CTR

4 4759805 PANEL WAIST 105.4”LG

5 4758957 PANEL WAIST LH RR WARCH

6 4758958 PANEL WAIST LH RR

7 4758959 PANEL WAIST RH FRT WARCH

8 0070130 PANEL,ALUM,WAIST,RH CTR 35FT

9 4758961 PANEL WAIST RH RR WARCH

10 4758962 PANEL WAIST RH RR

11 4759413 PANEL WAIST RH RR

20
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WAIST PANELS
35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08
To BSN 40154009

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003022

21
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WAIST PANELS
35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08
To BSN 40154009

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003022

0065738 KIT,PANEL,WAIST,FRONT DOOR ONLY,35FT, CONSISTS OF THE FOLLOWING

1 4759803 PANEL WAIST 110.1”LG

2 4759805 2 PANEL WAIST 105.4”LG

3 4758956 2 PANEL WAIST LH CTR 30FT

4 4759413 PANEL WAIST RH RR

5 4758954 PANEL WAIST LH FRT

6 4759804 PANEL WAIST 108.58”LG

21
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WAIST PANELS
35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08
BSN: From BSN F40154010

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003023

22
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WAIST PANELS
35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08
BSN: From BSN F40154010

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003023

0070133 KIT,PANEL,WAIST,FRT DR ONLY,35FT CONSISTS OF THE FOLLOWING

1 4758954 PANEL WAIST LH FRT

2 4758955 PANEL WAIST LH FRT WARCH

3 0070131 2 PANEL,ALUM,WAIST,CTR

4 4759805 2 PANEL WAIST 105.4”LG

5 4758957 2 PANEL WAIST LH RR WARCH

6 4758958 PANEL WAIST LH RR

7 4758959 PANEL WAIST RH FRT WARCH

8 4758962 PANEL WAIST RH RR

9 4759413 PANEL WAIST RH RR

22
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WATER FILLER DOOR ASSY

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003009

23
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
CENTER
WATER FILLER DOOR ASSY

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003009

1 4760136 PANEL,SIDE,SURROUND,WATER FILLER DOOR

2 4760137 DOOR,PANEL,WATER FILLER

3 4760138 2 BUMPER,RUBBER,FILLER DOOR

4 4760139 HINGE,ASSEMBLY,FILLER DOOR

NI 0071080 3 CAPSCREW,HEX HD,M4-0.7X10LG,GR8.8,S/S

NI 0071081 6 NUT,HEX HD,M4-0.7,GR.8,S/S

NI 0071082 6 WASHER,FLAT,M4,S/S

23
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
FRONT
BUMPER

With: FEATURE 40088-03, -04

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0002013

24
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
FRONT
BUMPER

With: FEATURE 40088-03, -04

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0002013

1 4755472 BUMPER,HELP,FRONT,TRANSPEC 5000,102 FEATURE 40088-03

0108022 MODULE,BUMPER,FRONT,RIGHT OR LEFT-HAND, FEATURE 40088-03

2 4761380 BRACKET ASSY,FRONT BUMPER MTG,LH FEATURE 40088-03

3 4761381 BRACKET ASSY,FRONT BUMPER MTG,RH FEATURE 40088-03

4 4759629 BUMPER ASSY FRONT,LH TRANSIT FEATURE 40088-03

5 4759630 BUMPER ASSY FRONT,RH TRANSIT FEATURE 40088-03

6 4759751 PANEL FRT CTR ASSY COMP TRANSIT FEATURE 40088-03

7 4761496 THREAD INS,.31 UNC,AVDEL DLS-518-150 FEATURE 40088-03

8 4760039 SCREW SKT BTN FLG 5-16 X 1 FEATURE 40088-03

9 4760035 WASHER PLASTIC ANTILOSS M8 FEATURE 40088-03

10 1107879 CAPSCREW,HEX HD,5/8-11 X1 3/4,GR8, FEATURE 40088-03

11 0939827 NUT,HEX HD,5/8-11,GR 8,LOCK,CADMIUM WAX FEATURE 40088-03

12 0929018 WASHER,FLAT,21/32 X 1 1/8 X 3/32,HDN,YEL FEATURE 40088-03

13 4761497 THREAD INS,.31 UNC,AVDEL DLS-518-312 FEATURE 40088-03

1 4759750 PANEL FRT CTR ASSY COMP SHUTTLE FEATURE 40088-04

2 4759875 BUMPER ASSY FRONT,LH SHUTTLE FEATURE 40088-04

3 4759876 BUMPER ASSY FRONT,RH SHUTTLE FEATURE 40088-04

4 4758684 PANEL FRONT LIGHTS LH SHUTTLE FEATURE 40088-04

5 4755620 PANEL FRONT LIGHTS RH SHUTTLE FEATURE 40088-04

6 4760021 FASTENER SCRIVET SCR-013 FEATURE 40088-04

7 4761496 THREAD INS,.31 UNC,AVDEL DLS-518-150 FEATURE 40088-04

8 4760039 SCREW SKT BTN FLG 5-16 X 1 FEATURE 40088-04

9 4760035 WASHER PLASTIC ANTILOSS M8 FEATURE 40088-04

24
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
FRONT
BUMPER

With: FEATURE 40088-03, -04

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0002013

10 4761497 THREAD INS,.31 UNC,AVDEL DLS-518-312 FEATURE 40088-04

24
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
FRONT
BUMPER
FRONT CORNER PANEL

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0002998

25
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
FRONT
BUMPER
FRONT CORNER PANEL

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0002998

1 4758508 BUMPER FRONT CORNER LH SHUTTLE

1 4758507 BUMPER FRONT CORNER RH SHUTTLE

25
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
FRONT
FRONT CENTER PANEL ASSY.

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0002999

26
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
FRONT
FRONT CENTER PANEL ASSY.

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0002999

1 4759580 PANEL FRT CTR ASSY SHUTTLE

2 4759607 LEVER ASSY FRT GRILLE

3 4755737 LATCH WBH 9 01530

4 4759586 ROD GRILLE CATCH

5 4755739 CLIP ROD PIVOT 4MM LARGE

6 1667773 CAPSCREW,HEX HD,1/4-20X1 1/4,GR5,YEL 

7 1465947 NUT,HEX HD,1/4-20,LK,NYLON INSERT,YEL 

8 1247709 WASHER,FLAT,17/64 ID X,5/8,YEL ZN DICH

9 0989145 CAPSCREW,HEX HD,5/16-18, X, 1, ,GR5,

10 1465954 NUT,HEX HD,5/16-18,LK,NYLON INSERT,YEL 

11 2001048 WASHER,FLAT,11/32 X 11/16 X 1/16,YEL 

26
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
FRONT
FRONT LIGHTS PANEL

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0002997

27
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
FRONT
FRONT LIGHTS PANEL

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0002997

1 4758684 PANEL FRONT LIGHTS LH SHUTTLE

1 4755620 PANEL FRONT LIGHTS RH SHUTTLE

27
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
FRONT
MAIN FRONT PANEL

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0002996

28
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
FRONT
MAIN FRONT PANEL

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0002996

1 4758511 PANEL FRONT MAIN (GRP)

28
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003000

NI 4758509 PANEL REAR MAIN (GRP)

NI 4758687 PANEL RR LIGHTS LH

NI 4758688 PANEL RR LIGHTS RH

NI 4759870 BUMPER RR CTR ASSY, SHUTTLE

NI 4759881 BUMPER REAR CORNER LH ASSY SHUTTLE

NI 4759880 BUMPER REAR CORNER RH ASSY SHUTTLE

29
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
BUMPER
REAR CENTER ASSY

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003003

30
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
BUMPER
REAR CENTER ASSY

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003003

1 4759870 BUMPER RR CTR ASSY, SHUTTLE

30
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
BUMPER
REAR CORNER ASSY

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003004

31
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
BUMPER
REAR CORNER ASSY

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003004

1 4759881 BUMPER REAR CORNER LH ASSY SHUTTLE

1 4759880 BUMPER REAR CORNER RH ASSY SHUTTLE

2 4755489 BUMPER REAR CORNER LH SHUTTLE

2 4758670 BUMPER REAR CORNER RH SHUTTLE

3 4759885 BRACKET PIVOT MTG REAR BUMPERS

31
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
MAIN REAR PANEL

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003001

32
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
MAIN REAR PANEL

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003001

1 4758509 PANEL REAR MAIN (GRP)

32
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
REAR ENGINE ACCESS DOOR ASSY

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003005

33
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
REAR ENGINE ACCESS DOOR ASSY

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003005

4759044 DOOR ASSY REAR ENGINE ACCESS

1 4759045 DOOR FRAME ENGINE ACCESS

2 4755270 2 CATCH RETAINING CAD PLATE

3 4752485 HANDLE DOOR

4 4752484 2 HINGE ENGINE ACCESS DOOR

10 1812239 4 SCREW,10-32 X 3/4,F,PH1,PAN HD,ZN

10 0019196 2 WASHER,FLAT,NO 8,YEL ZN DICH

10 4760037 2 NUT HEX M4 NYLOC ZINC

10 0989145 4 CAPSCREW,HEX HD,5/16-18, X, 1, ,GR5,

10 2001048 8 WASHER,FLAT,11/32 X 11/16 X 1/16,YEL 

10 1465954 4 NUT,HEX HD,5/16-18,LK,NYLON INSERT,YEL 

33
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
REAR LIGHTS PANEL

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003002

34
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
REAR LIGHTS PANEL

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003002

1 4758687 PANEL RR LIGHTS LH

1 4758688 PANEL RR LIGHTS RH

34
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
REAR UPPER ACCESS DOOR ASSY

With: STD

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003006

35
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
REAR UPPER ACCESS DOOR ASSY

With: STD

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003006

1 4759046 DOOR ASSY REAR UPPER ACCESS

2 4755270 CATCH RETAINING CAD PLATE

3 4752485 HANDLE DOOR

4 4752484 2 HINGE ENGINE ACCESS DOOR

10 4760037 2 NUT HEX M4 NYLOC ZINC

10 0019196 2 WASHER,FLAT,NO 8,YEL ZN DICH

10 4760037 2 NUT HEX M4 NYLOC ZINC

10 0989145 4 CAPSCREW,HEX HD,5/16-18, X, 1, ,GR5,

10 2001048 8 WASHER,FLAT,11/32 X 11/16 X 1/16,YEL 

10 1465954 4 NUT,HEX HD,5/16-18,LK,NYLON INSERT,YEL 

35
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
REAR UPPER ACCESS DOOR ASSY WITH DECELERATION LIGHTS

With: FEATURE 30742-01

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003007

36
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
REAR UPPER ACCESS DOOR ASSY WITH DECELERATION LIGHTS

With: FEATURE 30742-01

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003007

4759696 DOOR ASSY REAR UPPER DECEL

1 4760022 DOOR FRAME UPPER ACCESS DECEL

2 4755270 CATCH RETAINING CAD PLATE

3 4752485 HANDLE DOOR

4 4752484 2 HINGE ENGINE ACCESS DOOR

10 1812239 2 SCREW,10-32 X 3/4,F,PH1,PAN HD,ZN

10 0019196 2 WASHER,FLAT,NO 8,YEL ZN DICH

10 4760037 2 NUT HEX M4 NYLOC ZINC

10 0989145 4 CAPSCREW,HEX HD,5/16-18, X, 1, ,GR5,

10 2001048 WASHER,FLAT,11/32 X 11/16 X 1/16,YEL 

10 1465954 NUT,HEX HD,5/16-18,LK,NYLON INSERT,YEL 

36
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
ROOF CNG PIPE COVERS

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003035

37
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
REAR
ROOF CNG PIPE COVERS

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003035

1 0070800 COVER,CNG,PIPE,30 FOOT, L4RE

1 0070799 COVER,CNG,PIPE,35 FOOT, L4RE

2 0070801 COVER,CNG,PIPE, L4RE

NI 1143676 7 SCREW,10-16 X 3/4, AB,PH1,PAN HD,BLK ZN,

NI 0065537 SEALANT,PANEL,SIKAFLEX,521 UV,WHITE

NI 1415769 2 RIVET,POP,.18 X .45,CHERRY SSPS-6-4

37
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
RUBRAILS
30 FT. UNIT

With: FEATURE 30977-08 WITH FEATURE 31061-04

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003031

38
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
RUBRAILS
30 FT. UNIT

With: FEATURE 30977-08 WITH FEATURE 31061-04

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003031

4758750 FINISHER KIT RUB RAIL 3OFT CONSISTS OF THE FOLLOWING

1 4758997 FINISHER RUB RAIL LH FRT

2 4758998 FINISHER RUB RAIL LH CTR 30FT

3 4758999 FINISHER RUB RAIL LH RR

4 4759000 FINISHER RUB RAIL RH FRT

5 4759001 FINISHER RUB RAIL RH CTR1 30FT

6 4759002 FINISHER RUB RAIL RH CTR2

7 4759003 FINISHER RUB RAIL RH RR1

8 4759004 FINISHER RUB RAIL RH RR2

38
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
RUBRAILS
30 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003032

39
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
RUBRAILS
30 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003032

0065743 KIT,RUB RAIL,FINISHER,FRT DR ONLY,30FT CONSISTS OF THE FOLLOWING

1 4759000 FINISHER RUB RAIL RH FRT

2 4758998 2 FINISHER RUB RAIL LH CTR 30FT

3 4759003 FINISHER RUB RAIL RH RR1

4 4759004 FINISHER RUB RAIL RH RR2

5 4758997 FINISHER RUB RAIL LH FRT

6 4758999 FINISHER RUB RAIL LH RR

39
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
RUBRAILS
35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003033

40
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
RUBRAILS
35 FT. UNIT WITH FRONT DOOR ONLY

With: FEATURE 30977-08

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003033

0065744 KIT,RUB RAIL,FINISHER,FRT DR ONLY,35FT CONSISTS OF THE FOLLOWING

1 4759000 FINISHER RUB RAIL RH FRT

2 4761024 2 FINISHER,RUB RAIL,RH CTR,L4RE,35FT,2DR

3 4759003 FINISHER RUB RAIL RH RR1

4 4759004 FINISHER RUB RAIL RH RR2

5 4758997 FINISHER RUB RAIL LH FRT

6 4758999 FINISHER RUB RAIL LH RR

40
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
RUBRAILS
35 FT. UNITS WITH 2 DOORS

With: FEATURE 31061-05

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003034

41
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
RUBRAILS
35 FT. UNITS WITH 2 DOORS

With: FEATURE 31061-05

Service Parts Catalog

Key PartNumber Qty Description Comment

300 Exterior
Page Set PS0003034

4761015 FINISHER KIT,RUB RAIL,L4RE,35FT,2DR CONSISTS OF THE FOLLOWING

1 4758997 FINISHER RUB RAIL LH FRT

2 4761023 FINISHER,RUB RAIL,LH CTR,L4RE,35FT,2DR

3 4758999 FINISHER RUB RAIL LH RR

4 4759000 FINISHER RUB RAIL RH FRT

5 4761024 FINISHER,RUB RAIL,RH CTR,L4RE,35FT,2DR

6 4759002 FINISHER RUB RAIL RH CTR2

7 4759003 FINISHER RUB RAIL RH RR1

8 4759004 FINISHER RUB RAIL RH RR2

41
To order, contact your Blue Bird Authorized Dealer

PageSet Number




